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interface ATM6/0.102 multipoint
ip address 11.1.1.1 255.255.255.0
no ip directed-broadcast
pvc 0/102
protocol ip 11.1.1.2
encapsulation aal5snap
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interface ATM2/0.102 multipoint
ip address 11.1.1.2 255.255.255.0
no ip directed-broadcast
pvc 0/102
protocol ip 11.1.1.1
encapsulation aal5snap
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5HTENTVET,

Routerl# ping 11.1.1.23

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 11.1.1.23, timeout is 2 seconds:
*Jul 12 05:01:26.161: ATM(ATM6/0)
*Jul 12 05:01:28.161: ATM(ATM6/0): Encapsulation errorl, 1link=7, host=B010117.
*Jul 12 05:01:30.161: ATM(ATM6/0): Encapsulation errorl, 1link=7, host=B010117.
*Jul 12 05:01:32.161: ATM(ATM6/0)

( )

: Encapsulation errorl, 1link=7, host=B010117.

: Encapsulation errorl, 1link=7, host=B010117.
*Jul 12 05:01:34.161: ATM(ATM6/0
Success rate is 0 percent (0/5)
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: Encapsulation errorl, 1link=7, host=B010117.
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Router2# show atm map

Map list ATM2/0.102pvc4d : PERMANENT
ip 11.1.1.1 maps to VC 4, VPI 0, VCI 102, ATM2/0.102
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router eigrp 1

network 11.0.0.0
1

router rip
network 11.0.0.0
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I-—— This timestamped line of output appears on one line:

.Jul 12 14:21:09.408: ATM(ATM2/0.102)
Send:Error in encapsulation, No VC for address OxXFFFFFFFF
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! -—— Each of these timestamped lines of output appear on one line:

*Jul 12 06:09:50.945: ATM(ATM2/0.102)
Send: Error in encapsulation, No VC for address O0xE000000A
*Jul 12 06:09:51.625: ATM(ATM2/0.102)
Send: Error in encapsulation, No VC for address 0xE0000009
I-—— EQ00000A corresponds to 224.0.0.10. !--- E0000009 corresponds to 224.0.0.9.
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interface ATM2/0.102 multipoint
ip address 11.1.1.2 255.255.255.0
no ip directed-broadcast
pvc 0/102
protocol ip 11.1.1.1 broadcast
encapsulation aalS5snap
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